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Page 1 – Provide the answer, as needed  Page 2–  Provide the answer, as needed 
1. Where is Robin? A 

Point 
B 

Other 
4.  Who is in the 
nest with Robin? 

A 
With Mom and 

Dad 

B 
Other 

2.  What kind of 
animal is Robin? 

A 
bird 

B 
Other 

3.  What colour is 
Robin? 

A 
Red  

B 
Other 

5.  How many 
birds are in the 
nest? 

A 
Three 

B 
Other 

     
Question Code    Score Type 
1.1  How does Robin 
feel? 

A-3 
Sad, worried, 

scared 
 (precise emotion) 

B-2 
Not good, crying 
(imprecise) 

C-1 
Tired, hungry 

 (physical state) 

D-0 
don’t know /off-

topic 

 IR 

1.2 Why? 
 

A-3 
Storm AND parents 

gone (2 items) 
 

B-2 
Storm OR parents 

gone (1 item) 

C-1 
food, doesn’t know 

how to fly 

D-0 
don’t know / off-

topic 
 

 IR 

2.  What do you think 
will happen? 
 

A-3 
Branch/nest/ 

Robin AND specify 
what will happen 
(ex: branch will 

break)   
 

B-2 
Tree will break, 
does not specify 

who/what will fall / 
Robin will fly 

C-1 
Storm related 

(thunder, lightning, 
wind, rain) 

D-0 
don’t know / off-

topic 

 P 

3.  Uh oh! What is 
happening? 

A-3 
Branch/nest/Robin 
+ specify what is 
happening (ex: 
Robin falls). 

 

B-2 
Tree breaks, does 

not specify 
what/who falls 

(he/it falls)  

C-1 
Storm related 

(thunder, wind, 
rain), wet, parents 

D-0 
don’t know / off-

topic 

 IE 

 
4.1 How does Robin 
feel? 
 

A-3 
Sad, scared, 

worried, 
discouraged 
(specific and 

appropriate emotion) 

B-2 
Not good, crying 

(imprecise) 
 

C-1 
Cold, wet, hungry 

(physical state) 

D-0 
Don’t know, other. 

 IR 

4.2. Why? A-3 
The nest is broken/ 

destroyed  

B-2 
Does not specify 

nest (the branch is 
broken), parents are 

gone  

C-1 
Storm (thunder, 
wind), wet, cold  

D-0 
don’t know, off-

topic. 

 IR 

5.  What does Robin 
want? 

A-3 
house / nest / 

shelter 
 

B-2 
parents 

C-1 
Food 

D-0 
don’t know / off-

topic 

 G 

6.  Why is Robin 
looking for a shelter? 

A-3 
House is 

broken/nest is 
broken  

B-2 
Wet, he is crying, 

cold, scared, 
Parents not coming 

C-1 
Wants a friend  

D-0 
don’t know / off-

topic 

 IE 

 
Subtotal : 
 
Subtotal/inference : 

 
A______ 

 
IR_____ 

 
B______ 

 
P______ 

 
C______ 

 
IE_____ 

 

 
D______ 

 
Goal_____ 
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Question Code    Score Type 
7.1 Will Robin be 
happy in the skunk’s 
house?  

A-1 
No 

  D-0 
Yes 

 RP-P 

7.2. Why? 
 

If no A-3 
Skunk smells bad 

 

B-2 
It’s a burrow, needs 

a nest 
 

C-1 
vague, wants his 

parents 

D-0 
don’t know, off-

topic. 

 RP-P  

If yes  B-2 
He is safe, doesn’t 

want to be wet, 
doesn’t have a nest  

C-1 
Wants to be warm, 

he is crying  

D-0 
don’t know, off-

topic 

 RP-P 

8.1. Is it a good shelter 
for Robin? 

A-1 
No 

  D-0 
Yes 

 RP-E 

8.2. Why ? If no A-3 
Skunk smells bad 

B-2 
Burrow 

C-1 
Wants his parents 

D-0 
don’t know, off-

topic 

 RP-E 

If yes  B-2 
He is safe, doesn’t 

want to be wet 

C-1 
Wants to be warm, 
house won’t break, 

is alone  

D-0 
don’t know, off-

topic 

 RP-E 

9.1. Will Robin be 
happy in the 
porcupine’s house? 

A-1 
No 

  D-0 
Yes 

 RP-P 

9.2. Why ? If no A-3 
The porcupine will 

prick him 
 

B-2 
porcupine lives in a 

tree trunk 

C-1 
vague, full of 

porcupines, wants 
his parents  

D-0 
don’t know, off-

topic 

 RP-P 

If yes  B-2 
He is safe, doesn’t 

want to be wet 

C-1 
Tree trunk, won’t 

break  

D-0 
don’t know, off-

topic 

 RP-P 

10.1 Is it a good 
shelter for Robin? 

A-1 
No 

  D-0 
Yes 

 RP-E 

10.2. Why ? If no A-3 
The porcupine will 

prick him 

B-2 
Robin hurts (no 

explanation) 

C-1 
Not his house, 

wants his parents 

D-0 
don’t know, off-

topic 

 RP-E 

If yes  B-2 
He is safe C-1 

tree, it’s warm 

D-0 
don’t know, off-

topic 

 RP-E 

11.1. Will Robin be 
happy in the beaver’s 
house? 

A-1 
No 

  D-0 
Yes 

 RP-P 

11.2. Why ? If no A-3 
Can’t swim, can’t 
breathe/can’t go 

under water   

B-2 
 wet, water, the 

water is cold  

C-1 
Branches, wants his 
parents, he’s cold  

D-0 
don’t know, off-

topic 

 RP-P 

If yes  B-2 
House, he is safe, it 
doesn’t prick him, it 

doesn’t stink 

C-1 
Cold, it won’t rain, 

he will dry out  

D-0 
don’t know, off-

topic 

 RP-P 

Subtotal : 
Subtotal/inference : 

A______ 
PR-P_____ 
 
 
 
 

 

B______ 
PR-E______ 

C______ 
 
 
 

D______ 
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Question Code    Score Type 
12.1.  Is it a good 
shelter for Robin? 

A-1 
No 

  D-0 
Yes 

 

 RP-E 

12.2 Why? 
 
 
 

If no A-3 
Can’t swim, can’t 

breathe/can’t go in, 
under water   

B-2 
Is wet, water, the 

water is cold 

C-1 
Branches, wants his 
parents, he’s cold 

D-0 
don’t know, off-

topic 

 RP-E 

If yes  B-2 
House, he is safe, it 
doesn’t prick him, it 

doesn’t stink 

C-1 
Cold, it won’t rain, 

he will dry out 

D-0 
don’t know, off-

topic 

 RP-E 

13.1.  How does Robin 
feel? 
 
 

A-3 
Discouraged/Sad 

B-2 
Not good, not 

happy  

C-1 
Wants to find his 
parents, wet, cold 

hungry  

D-0 
don’t know, off-
topic 

 IR 

13.2. Why ? A-3 
Didn’t find 

shelter/home  

B-2 
Parents gone, alone, 
his house or nest is 

broken  

C-1 
Storm, wet, cold  

D-0 
don’t know/ off-

topic 

 IR 

14.  What does Robin 
want? 
 

A-3 
a shelter, nest, a 

house 

B-2 
Fix his nest, his 
parents, a friend 

C-1 
Go home 

D-0 
To eat, don’t know, 

off-topic 

 G 

15.  What is Tom’s 
idea?  

A-3 
build/make a 

birdhouse  
 

B-2 
A house, an 

invitation at his 
house, fix/make a 

nest 

C-1 
Go get wood 

D-0 
don’t know/ off-

topic 

 P 

16.1.  Will Robin be 
happy in this house? 

A-1 
Yes 

  D-0 
No 

 RP-P 

16.2 Why ? If yes 

A-3 
To be safe, 

birdhouse, solid 

B-2 
it’s not raining, he 
will dry out, it will 

be good for his 
parents 

C-1 
A nest, the nest was 
broken, happy, with 
his parents, no more 

storm  

D-0 
don’t know,  off-

topic 

 RP-P 

If no  B-2 
Doesn’t have his 
parents with him 

C-1 
Nails 

D-0 
don’t know, off-

topic 

 RP-P 

17.1.  Is it a good 
shelter for Robin? 

A-1 
yes 

  D-0 
No 

 S 

17.2. Why? If yes 

A-3 
He is protected/ 
safe, birdhouse, 

sturdy, won’t break 

B-2 
A roof, a house, 

made out of wood, 
will dry out, his 

parents came back  

C-1 
Storm is gone, he 

can eat, he is 
comfortable, there 
is nothing inside  

D-0 
don’t know/  off-

topic 

 S 

If no  B-2 
Doesn’t have his 

parents 

C-1 
Nails 

D-0 
don’t know,  off-

topic 

 S 

 
Subtotal : 
 
Subtotal/inference : 

 
A______ 

 
PR-E_____ 

 
PR-P_____ 

 
B______ 

 
IR______ 

 
S______ 

 
C______ 

 
Goal____ 

 

 
D______ 

 
P_____ 
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Question Code    Score Type 

18.1 How does Robin 
feel ? 
 
 

A-3 
Happy 

(specific and 
appropriate emotion) 

B-2 
Good, laugh, better 

(imprecise) 

C-1 
Not sad, he is not 
crying anymore, 
finally with his 

parents 

D-0 
don’t know, not an 

emotion 

 IR 

18.2 Why ? 
A-3 

Shelter AND parents 
came back  (2 items) 

B-2 
Shelter/House OR 
parents came back 

(1 item) 

C-1 
storm being gone 

(sun, nice outside), 
eat 

D-0 
don’t know,  off-

topic 

 IR 

19.1.  Who do you 
think helped Robin the 
most? 
 

A-1 
Tom 

  D-0 
Other 

 S 

19.2. Why? If Tom 
A-3 

Built/made a birdhouse  

B-2 
Nest was broken, 
good idea, didn’t 

have a shelter  

C-1 
Nice, Kind 

D-0 
don’t know,  off-

topic 

 S 

If 
Other 

 B-2 
Parents gone, tried 

to help him  

C-1 
Parents came back, 

didn’t have a 
shelter 

D-0 
His friends, don’t 
know,  off-topic 

 S 

 
Subtotal : 
 
Subtotal/inference : 

 
A______ 

 
IR_____ 

 
B______ 

 
S______ 

 
C______ 

 

 
D______ 

 

 

Code Inference Questions Score Code Inference Questions Score 
IE Initial event  3 

6 
 
 

/6 

PR-E Problem 
Resolution - 
Evaluation 

8.1 + 8.2 
10.1 + 10.2 
12.1 + 12.2 

 
 

/12 

IR Internal 
Response 

1.1 + 1.2 
4.1 + 4.2 
13.1 + 13.2 
18.1 + 18.2 

 
 

/24 

PR-
Total 

Problem 
Resolution - 
Score total 

RP-P 
+ 
RP-E 

 
 

/28 

Goal  Goal 5 
14 
 
 

 
 
6 

P Prediction 2 
15 

 
 

/6 

PR-P Problem 
Resolution - 
Prediction 

7.1 + 7.2 
9.1 + 9.2 
11.1 + 11.2 
16.1 + 16.2 

 
 

/16 
 

S Solution 17.1 + 17.2 
19.1 + 19.2 

 
 

/8 

 
TOTAL :          / 6 (IE) +           / 24 (IR) +           / 6 (Goal) +          / 28 (PR-Total) +           / 6 (P) +          / 8 (S) =                  /78 
 
 
TOTAL: 

 
A_____ 

 
B_____ 

 
C_____ 

 
D_____ 

 


